
230829

Φ8

Φ6

- x1 - 752-0500501BK
- - x1 752-0500501SL
- - x2 990-0900014
- x2 - 990-0900015
- - x2 990-1037000

x2 - 990-1037001
- x2 x2 995-0500012

0900-969-00010

FITTING KIT FOR OIL TEMPERATURE METER
CODE : (BLACK) 752-0500550 / (SILVER) 752-0500560

●Thank you for purchasing Kitaco product. Read and understand the instruction before installing.
ATTENTION (MUST READ)

●Do not apply excessive force to this product. It might cause of break and trouble. Do not modify the way 
  which is not listed or it will cause damage and trouble.
●We are not responsible for viola�on of law or damages and accidents caused by assembling mistake and 
  improper se�ng.
●Please ask authorized mechanic for assembling and se�ng.
●Refer to the manufacturer service manual when installa�on.
●Bolts and nuts may get loosen by engine vibra�on. Make sure not to loosen any bolts and nuts before driving.
※Metal/resin/alumite products get discolored/rust for ages as well as how to use. Please understand when 
  using.

INCLUDED PARTS
NIPPLE

NIPPLE
HOSE BAND

●Cut the oil hose, then relay to a�achment. Install a�achment 
  to hose that inflow to oil cooler.
●Install a�achment to where can avoid engine heat effec�on. 
  If installing a�achment where it touches to engine, it may 
  cause of a�achment breaking by vibra�on. Be careful of it.
●2 kinds of nipples are a�ached. Please use them to fit hose 
  diameter. Be careful not to over-�ghten.
●A�er installa�on, check the oil poured specified amount 
  and there is no leaking from a�achment connec�ong sec�on.

※Choose nipple from 2 types to fit oil cooler hose.

ATTACHMENT (Read the attention on right side.)

SENSOR TORQUE : 8N・m (0.8kgf・m)

NIPPLE
HOSE BAND

INSTALLATION ILLUSTRATION (Relay to oil cooler hose)

SENSOR SHAPE
Rc1/8 TAPERED SCREW

FLANGE

▼ATTENTION ABOUT SENSOR
●Be careful of rou�ng lead wire not to interrupt to exhaust pipe, engine, etc where high heat place.
●Please apply seal tape or liquid gasket (KC-027) avoid to leaking oil of thermo unit flange.
   Do not over-�ghten. It might break sensor.
●TORQUE : 8~10N・m (0.8~1kgf・m)

PACKING LIST BLACK SILVER
NAME QTY CODE

ATTACHMENT (BLACK)
ATTACHMENT (SILVER)
NIPPLE Φ8 (M8x1.25) BLUE
NIPPLE Φ8 (M8x1.25) BLACK
OIL NIPPLE Φ6 (M8x1.25) BLUE
OIL NIPPLE Φ6 (M8x1.25) BLACK
STAINLESS BAND W9 #12 (Φ8~12)

OPTION PARTS (SOLD SEPARATELY)
LIQUID GASKET (KC-027)

3-8-13 NAGATA,HIGASHI-OSAKA,OSAKA,JAPAN


